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=X +2X, —4X; = -2

11 -1]1 11 -1|1 11 -1|1
{2 1 3|4 Dﬁ*:;qﬂﬁb{o -1 5 |2 |0®&@P-|0o 1 -5 —2}
-1 2 -4|-2 0 3 -5|-1 0 3 -5|-1
10 413 10 413 1001
ngmd-lo 1 -5)-2 oB®-.lo 1 -5|-2 oeue-jo 1 0 ;1
00 105 00 1|4 00 1|4
(2)
1 -20 30 -2 0 3 0]2
1 -2 121 1 -1 1/0
-4 1 5 2 1 -1 21
1 -20 "2 0 3 0)2 rank(A)=rank(A | b)=3
@m-jo o 1 0 1 -10/-1 B fE5-3-2
0 0 0 0 0 0 1|1
X = 6%y = G B -%02] [2) [5] [2
% =1X; =¢, ~1x =26, -3¢, +2 x=| -1 |=¢|0|+c,| 1 [+|-1 c,c,0OR
c, 0 1 0
1 0 0 1
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1 1 -a+1|1 0 0 11 -a+1|1 0 0

2 3 2a |0 10 D‘(Eib 0 1 4a-2|-2 1 0

11 1 00 00 a -1 0 1
1 0 -5a+3| 3 -1 0 1 0 -5a+3| 3 -1 0

OB @.jo 1 4a-2 |-2 1 o|0fF~|0 1 4a-2 |-2 1 0
00 a -1 0 1 00 1 -1 0 1
1 0 -5a+3|-2+2% -1 5-%

ﬁ((?]j;ﬁ 0 1 0 2-2 1 —4+%
00 1 -1 0 L
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1) 5 -3 14 1 -1 2 1 -1 2
-5 6 7|=5@O-1 2 1|=5@O0 1 3|=5@BIF(-5-9)=-1470
0 3 -7 2 1 - o 3 -5
2 1 -1 291 -1 2
2 -11 2 o 1 -3 Lo-3 0t =300,
= =0 4 2|=j0 4 2|= =-16
-1 1 2 1 jo 0o 4 2 6 -
3 -3 -1 10 6 -1
2 1 11 o 3 -3 -1
3
B) 15 2 4 3 22 1 1 D11
2 3 2 _ Q2 2 _ —_ —_
¢ 21 7| _[@-F 2°(2-3) 13 7-8 |_o.0 ool g
3% 20 1 77 |¥-3° 2°(2-3) 1-3 7(7-3) i ,
4 5 3 4 _na 4 2 2 1 7
3¢ 25 1 7% [3*-3* 24(2-3) 1-3 T72(7-3)
101 1
=960 -1 5 |=960-35+5)=-2880
0 -1 7
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2 0 -1 3 4
W=<xOR’1 2 3 1 -5|x=0

31 4 -7 10

1 2 3 1 -5
2 0 -1 3 4
31 4 -7 10

o & - oerad -

@+Dx(-3)

2 0 -1 3 4
1 2 3 1 -5 0 -4 -7 1 14
3 1 4

-7 10

-5 -5 -10 25

1 2 3 1 -5
0

1 2 3 1 -5 10 1 -3 5
Joo o 11 2 -5offMaio 11 2 -5
- 7lo -4 -7 1 14| 00 -3 9 -6
101 -3 5 100 0 3
M0 11 2 -5/0800-0 10 5 -7 rank(A)=3
0o 01 -3 001 -3 2 B E#ES-3=2
X, =€, X = C& <
-3c, 0 -3
-5c, +7c, -5 7
X=| 3c,—-2¢c, |=¢| 3 |+C,| -2
C, 1 0
c, 0 1
0 -3
-5 7
dim( W) = 2, 0 & HE 3 [,|-2
1 0
0 1

2014/1/7



